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(1) Ti+ , Zn2+

(2) V2+,Nh‘12+

(3) SC3+,C112+

(4) Cr3t , Fe3t

Options :

212807126717. 1
212807126718. 2
212807126719. 3
212807126720. 4
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Group Marks : 200
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Question Number : 301 Question Id : 21280731916 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

International Ozone day is celebrated on :
(1) 22 April

(2) 22 March

(3) 16 September

(4) 5 June

Options :

212807127661. 1
212807127662. 2
212807127663. 3
212807127664. 4

Question Number : 301 Question Id : 21280731916 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
s sl feam w9 7 ST R 2
(1) 22 otda
(2) 2249
(3) 16 faara
(4) s5+¥d
Options :

212807127661. 1
212807127662. 2
212807127663. 3
212807127664. 4

Question Number : 302 Question Id : 21280731917 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

‘Saving the forests as trees give us oxygen and better air quality’. The ecological philosophy of the
above mentioned sentence was coined by :

(1) Woodrow Wilso

(2) Barry Commoner

(3) Gary Sriyder

(4) Arne Naess

Options :

212807127665. 1
212807127666. 2
212807127667. 3
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212807127668. 4

Question Number : 302 Question Id : 21280731917 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

4 =t S 8 i Tg el SifeRisr ol Sge ary e 2 ¥ 1 Sl sfeafEa s ot witfefuen g
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(1) 90 foee
(2) = HgR
(3) T gArre
(4) o g

Options :

212807127665. 1
212807127666. 2
212807127667. 3
212807127668. 4

Question Number : 303 Question Id : 21280731918 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The practice of stewardship of land in ecology has three levels. Which of the following is not a part
of stewardship practice ?
(1) Wilderness Preservation
(2) Conservation Easement
{3) Land Management
(4) Community Stewardship
Options :
212807127669. 1
212807127670. 2

212807127671. 3
212807127672. 4

Question Number : 303 Question Id : 21280731918 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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212807127669. 1
212807127670. 2
212807127671. 3
212807127672. 4

Question Number : 304 Question Id : 21280731919 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following statements about sustainable development is incorrect ?
(1) It includes the aspect of socio-economic equity.
(2) It was inftroduced in the Brundtland Commission
(3) The first report to mention it was “Our common Future”
(4) It does not include the aspect of inter-generational equity
Options :
212807127673. 1
212807127674. 2

212807127675. 3
212807127676. 4

Question Number : 304 Question Id : 21280731919 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807127673. 1
212807127674. 2
212807127675. 3
212807127676. 4

Question Number : 305 Question Id : 21280731920 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which one of the following idea is promoted by ‘Earth first” ?
(1) Deep ecology

(2) Shallow ecology

(3) Social ecology

(4) Socialist ecology
Options :

212807127677. 1
212807127678. 2
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212807127679. 3
212807127680. 4

Question Number : 305 Question Id : 21280731920 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

‘o1t w2 g Frevfafian § G forg Rram Y seran fom o e ?
(1) e wicfeerfieny

(2)  u wrfeffient

(3) wrafas wfdef
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Options :

212807127677. 1
212807127678. 2
212807127679. 3
212807127680. 4

Question Number : 306 Question Id : 21280731921 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value

Comprehension MCQ

Match List - [ with List - IL

List -1 List - II

(A) Amensalism () Interaction is favourable to both species

(B) Competition (I)  One species is inhibited while the other species is unaffected
(C) Commensalism (IlTy Adversely affects both species

(D) Mutualism (IV) One species benefits, while the other species is neither harmed

nor inhibited
Choose the correct answer from the options given below :

(1) (A)-(V), (B)-{I1D, (1), (D)-(D
() (A)-(1V), (B)-{IID), (C)-(D, (D)-(ID
(3) (A1), (B)-(11D), (CH-(1), (D)-(V)
(4)  (A)-(I), (B)-(11D), (C1-(V), (D)-(D

Do I376s1.

212807127682. 2

212807127683. 3
212807127684. 4

Question Number : 306 Question Id : 21280731921 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1)  (A)IV), (B)-(IID, O)-~(1), (D)-(D)

(2)  (A)-IV), (B)-(ID, O)-(D, (D)D)

(3)  (A)(II), B)-(III), (CO)-(I), (D)-(IV)

(4) (A)-ID, B)-UD), (O-IV), (D)D)

Options :

212807127681. 1

212807127682.2

212807127683. 3
212807127684. 4

Question Number : 307 Question Id : 21280731922 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key 'Value

Comprehension MCQ
Xerarch is :

(1) Succession that takes place in pond with high DO

(2) Succession that takes place on land with low moisture
(3) Succession that takes place on plants with high moisture
(4) Succession that takes place in pond with low DO

Options :

212807127685. 1
212807127686. 2
212807127687. 3
212807127688. 4

Question Number : 307 Question Id : 21280731922 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807127685. 1
212807127686. 2
212807127687. 3
212807127688. 4

Question Number : 308 Question Id : 21280731923 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which of the following is not a in-situ conservation method ?
(1) National park

(2) Biosphere Reserve

(3) Botanical Garden

(4) Wildlife sanctuary

Options :

212807127689. 1
212807127690. 2
212807127691. 3
212807127692. 4

Question Number : 308 Question Id : 21280731923 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Frrefeafard & & st i o deem fafy =8 &2
(1) sy ok
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Options :

212807127689. 1
212807127690. 2
212807127691. 3
212807127692. 4

Question Number : 309 Question Id : 21280731924 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Majority of organisms are restricted to narrow range of salinity, are called as :
(1) Stenohaline
(2) Euryhaline
(3) Halo-haline
(4) Halophytes

Options :
212807127693. 1
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212807127694. 2
212807127695. 3
212807127696. 4

Question Number : 309 Question Id : 21280731924 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807127693. 1
212807127694. 2
212807127695. 3
212807127696. 4

Question Number : 310 Question Id : 21280731925 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The no. of individuals of the same species that have come into the habitat from elsewhere during
the time period under consideration known as :
(1) Population density
(2) Emigration
(3) Immigration
(4) Natality
Options :
212807127697 1
212807127698. 2

212807127699. 3
212807127700. 4

Question Number : 310 Question Id : 21280731925 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807127697. 1
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212807127698. 2
212807127699. 3
212807127700. 4

Question Number : 311 Question Id : 21280731926 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The population size of a community is technically called population density and designated as :
(1 I

(2) D

(3) N

(4) E
Options :

212807127701. 1
212807127702. 2
212807127703. 3
212807127704. 4

Question Number : 311 Question Id : 21280731926 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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(1 1
2) D
3) N
4) E
Options :
212807127701. 1
212807127702. 2

212807127703. 3
212807127704. 4

Question Number : 312 Question Id : 21280731927 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Match List - T with List - IL

List - I List - II

(Wild Life Sanctuary) (State)
(A) Singalala (. West Bengal
(B) Talchhapar (II) Madhya Pradesh
(C) Binsar (III) Uttarakhand
(D) Bori {IV) Rajasthan

Choose the correct answer from the options given below :
1) (A0, (B)ID), (O, (D)-(IV)

2)  (A)y-(ID, (B)-(ID), (C)-(IV), (DD

3) (AN, (B)-(IV), (OIID), (D)-(ID)

B (A)-(IV), (B)-(IID, {O)-(W), (D)D)

Options :

212807127705. 1

212807127706. 2

212807127707. 3
212807127708. 4

Question Number : 312 Question Id : 21280731927 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) (A1), (B)-(ID, (O)-(I1I), (D)~(IV)
(2) (A, (B)-(I), {O~(IV), (D)}-(D
(3) (A, (B)-(IV), (O-(I1D), (D)-(1])
4) (A)-(IV), (B)-(11D), {O)-(I), (D)-(])
PsoT05. 1
212807127706. 2

212807127707. 3
212807127708. 4

Question Number : 313 Question Id : 21280731928 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Key Value
Comprehension MCQ

Arrange the following species in their increasing number in a aquatic food chain.
(A) Phytoplankton
{(B) Zooplankton
(C) Small fishes
(D) Large fishes
(E) Fish eating bird
Choose the correct answer from the options given below :
(1) (E) (D), (C), (B), (&)
(2) (B, (D), {C) (A) (B)
(3) (Q), (D), (E) {B), (A)
4 (A), (B), (O, (D), (B)
Options :
212807127709. 1
212807127710.2

212807127711. 3
212807127712. 4

Question Number : 313 Question Id : 21280731928 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) (E), (D), ©), (B), (A)

(2) (B}, (D), ©), (A), (B)

3)  (©), (D), (E) (B), (A)

4) (A, (B) (O), (D), (E)

Options :

212807127709. 1
212807127710. 2
212807127711. 3
212807127712. 4

Question Number : 314 Question Id : 21280731929 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

IKey Value
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|C0mprehension |MCQ

Net Primary Productivity (NPP) can be calculated by which of the following equation ?
(1) NPP=GPP+R
(2) NPP=GPP-R
(3) NPP=GPP+PR
(4) NPP=GPP-PR
Options :
212807127713. 1
212807127714. 2

212807127715. 3
212807127716. 4

Question Number : 314 Question Id : 21280731929 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Freifefad § @ e g3 grr Frae woafirs SonEsrar (NPP) # T7orn 6 s gepe 872
(1) NPP=GPP+R
(2) NPP=GPP-R
(3) NPP=GPP+PR
(4) NPP=GPP-PR
Options :
212807127713. 1
212807127714.2

212807127715. 3
212807127716. 4

Question Number : 315 Question Id : 21280731930 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following soil horizons in their order starting from the surface.

(A) A horizon
(B) O horizon
(C) B horizon
(D) E horizon

(E) R horizon

Choose the correct answer from the options given below :
(1) (A (©), (D), (B), (B)

2 (A). ©), E), (B) (D)

(3)  (B) (A), (D), ©) (B

#) (B, (O, (E), (D) (&)

Options :
212807127717. 1
212807127718.2

212807127719. 3
212807127720. 4 .
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Question Number : 315 Question Id : 21280731930 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Fereft e g e & Freforfed g afdel o |1dE @ g $3 g HHTER sgafierd #)
(A) A ufedm
(B) O ufdm
(C) Bfeas
(D) Eufeds
() RufEs
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(1) (A), (O, (D), (E), (B)
(2) (A, (©), (B), (B), (D)
(3)  (B), (A), (D), (C), (B)
4)  (B), (O), (E), (D), (A)
Options :

212807127717. 1

212807127718.2

212807127719. 3
212807127720. 4

Question Number : 316 Question Id : 21280731931 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Find the correct statement/s.

(A) Hardness of water is due fo the presence of calcium and magnesium salt.
(B) Permanent hardness of water can not be removed by boiling of water.
(C) Lime can also be used to remove the hardness of water.

(D) Hard water forms scum with soap.

(E) Rain water is not always hard water.

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) only

(2) (&), (B), (©), (E) only

(3) (&), (©) (D), (E) only

(4)  (A), (B), (D), (E) only

Options :

212807127721. 1
212807127722.2
212807127723. 3
212807127724. 4
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Question Number : 316 Question Id : 21280731931 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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(1) e (A), (B), (O), (D)
(2) &G (A), (B), (O) (B)
(3) &aFd (A), (O), (D), ()
(4) e (A), (B), (D), (E)
RO
212807127722.2

212807127723. 3
212807127724. 4
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Question Number : 317 Question Id : 21280731932 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which one of the following is secondary Air Pollution ?

(1) NO,
(2) S50,
(3) Tropospheric ozone
(49) CO
Options :
212807127725 1
212807127726.2

212807127727. 3
212807127728. 4

Question Number : 317 Question Id : 21280731932 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Frerfafan § & o0 s arg wgwe 82

(1) NO,
(2) SO,
(3) alrurgefy sisle
(4 Co
Options :

212807127725. 1
212807127726. 2
212807127727. 3
212807127728. 4

Question Number : 318 Question Id : 21280731933 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following soils have around 40% silt, 40% sand and 20% clay proportion of soil
particles ?

(1) Clayey soils

(2) Loamy soils

(3) Silty soils

(4) Sandy soils
Options :
212807127729. 1
212807127730. 2

212807127731. 3
212807127732. 4

Question Number : 318 Question Id : 21280731933 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Freaferfiaa 8 g it o gar il =1 eprept 40% Taee, 40% Y@ o¥R 20% =3 (i) S d7?
(1) <R
(2) it fugh

(3) feee g
(4) =g
Options :

212807127729. 1
212807127730. 2
212807127731. 3
212807127732. 4

Question Number : 319 Question Id : 21280731934 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value |
Comprehension MCQ

s collegedunia:

-



Which one of the following factor does not affect the new economics of labour migration ?
(1) Economic incentive
(2) Excessive Labour Demand
(3) Insufficient income
(4) Social entities
Options :
212807127733, 1
212807127734. 2

212807127735.3
212807127736. 4

Question Number : 319 Question Id : 21280731934 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Frreferfiga d @ -1 SR 99 gergd 1 78 srefoqaen $t ynfrd =l @ §?
(1) onfdn diea

(2) faera gq i

(3) quAm |

(4) wmfer A
Options :

212807127733. 1
212807127734. 2
212807127735.3
212807127736. 4

Question Number : 320 Question Id : 21280731935 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following is not a push factor for rural to urban migration ?
(1) Poor Medical Infrastructure

(2) Degraded quality of education

(3) Pristine environment

(4) Natural calamities

Options :

212807127737. 1
212807127738. 2
212807127739. 3
212807127740. 4

Question Number : 320 Question Id : 21280731935 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

s collegedunia:

-



Frerferfign | & wE-on ardro @ wigd warH & forg Sgerer (q9) HRE T 82

(1) Tregerda el syagean
(2) Eus T quEs

(3) ureT wafey

(4) WHldE 9

Options :

212807127737. 1
212807127738.2
212807127739. 3
212807127740. 4

Question Number : 321 Question Id : 21280731936 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following are pull factors for migration ?

(A) Better job

(B) Political stability

(C) Flood

(D) Peaceful Environment
(E) Religious Instability

Choose the correct answer from the options given below :

(1) {A), (O), (E) only
(2) (B), (D), (E) only
(3) (O, (D), (E) only
(4) (A), (B), (D) only
Options :

212807127741. 1

212807127742.2

212807127743.3
212807127744. 4

Question Number : 321 Question Id : 21280731936 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

-

s collegedunia:



Freaferfiad 6 § H9-8 vam % fau srwdorsi (qe) ®RE 82
(A) e AF
(B) uerifas wenfirey

(© =
(D) wifergel wrdter
(B) e sifeeran

A T e fased) § 8 W SO H g B
(1) =& (A), ©) (B)
(2) e (B), (D), (B)
(3) &= (C), (D), ()
(4) ae (A), (B), (D)

Options :

212807127741. 1
212807127742. 2
212807127743. 3
212807127744. 4

Question Number : 322 Question Id : 21280731937 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

For any development project it is expected to do a survey of its effect on the surrounding ecosystem.
This process is known as :

(1) Ecological Impact Assurance

(2) Environmental Impact Assessment
(3) Environmental Impact Assurance
(4) Ecological Impact Assessment

Options :

212807127745. 1
212807127746. 2
212807127747. 3
212807127748. 4

Question Number : 322 Question Id : 21280731937 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

s collegedunia:

-



Tt oft Torenraneren wfelsF 3 ook @itverd] ufRae W yeig 1 wdaro e s yeonford €139 wfean =t
AR

(1) wilRfeafawt gurg smeeaeA

(2) TSRO YT S

(3) qHteLOi T SR

(4) uilfeafant g seer

Options :

212807127745. 1
212807127746. 2
212807127747. 3
212807127748. 4

Question Number : 323 Question Id : 21280731938 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Free trade befween developing and developed nations :
(1) Slowly increases migration
(2) Reduces migration
(3) Has no impact on migration
(4) Rapidly increases migration
Options :
212807127749. 1
212807127750 2

212807127751. 3
212807127752. 4

Question Number : 323 Question Id : 21280731938 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Forsrrerefier oir frssfira ¥ 3 e o =anaw o
(1) -+ gema wgwn ¥

(2) WEA Y e E

(3) wEras qtE gy el A @

(4) e § e wear &

Options :

212807127749. 1
212807127750. 2
212807127751. 3
212807127752. 4

Question Number : 324 Question Id : 21280731939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value

s collegedunia:

-



|C0mprehensi0n IMCQ |

Arrange the following in current sequence from first to last steps in sewage water treatment plant.
(A) Sedimentation and filteration

(B) Screening

(C) Chemical disinfection

(D) Biological treatment

Choose the correct answer from the options given below :

(1) (A) (B), D) (O
(2) (B (A) (D) (©
(3) (B @A) Q. D
(4) (A (B) ©. D)
Options :
212807127753. 1
212807127754. 2

212807127755.3
212807127756. 4

Question Number : 324 Question Id : 21280731939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

qifgd Hei-9el STFR G4 4 vow 8 HAfqe dre g Freifefan o a8 oo 8§ orafiem o5
(A) srerardrato i Frede

(B) Sifaradisi

(C) e fggsmym

(D) SifeEhta IUER

= fem o faaedi O & WE ST 1 994 i ;

(1) (A B, D) ©

(2) (B) (A) D) (O
(3) (B)(A) ©, (D)
4) (A (B), ), D)

Options :

212807127753. 1
212807127754. 2
212807127755. 3
212807127756. 4

r

Question Number : 325 Question Id : 21280731940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

gcollegeduniag

-



Water storage practice have been "Khuls” primarily practiced in the state of :
(1) Jammu and Kashmir
(2) Rajasthan
(3) Himachal Pradesh
(4) Maharashira
Options :
212807127757. 1
212807127758. 2

212807127759. 3
212807127760. 4

Question Number : 325 Question Id : 21280731940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

W duem dET Feet’ germw fea o A yufad 87
(1) Sre—yHR

(2) TSHEH

(3) Temraer waw

(4) WY
Options :

212807127757. 1
212807127758. 2
212807127759. 3
212807127760. 4

Question Number : 326 Question Id : 21280731941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following method is not adopted in green revolution to improve agricultural yield ?
(1) wuse of advanced machinery
(2) use of chemical fertilisers
(3) wuse of organic fertilizers
(4) use of insecticides
Options :
212807127761. 1
212807127762. 2

212807127763. 3
212807127764. 4

Question Number : 326 Question Id : 21280731941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

s collegedunia:

-



efta swifer | T Yemr wgr & oy Froifafa § @ fed) fafa < & sroamm sm 72
(1) g5 et =y

(2) Tt SR v

(3) e gt @ wdm

(4) TR H YT

Options :

212807127761. 1
212807127762.2
212807127763. 3
212807127764. 4

Question Number : 327 Question Id : 21280731942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

is a practise where ‘livestock management’ and cropping is done fogether.

(1) Mixed cropping
(2) Multiple cropping
(3) Mixed cropping

(4) Inter cropping

Options :
212807127765. 1
212807127766. 2

212807127767. 3
212807127768. 4

Question Number : 327 Question Id : 21280731942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
wm fnfafiygen ¥ faod vyem weve ofk we w e feew srar &2
(1) Tufsrd wem
(2) =g T
(3) Tufga @@
(4) Saver
Options :

212807127765. 1
212807127766. 2
212807127767. 3
212807127768. 4

Question Number : 328 Question Id : 21280731943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value |
Comprehension MCQ

s collegedunia:

-



Which of the following planting types come under succession planting ?
{A) Planting a deep rooted crop with a shallow roots crop.
(B) Planting two or more crops in succession.
(C) Planting several varieties with different maturity dal
(D) Growing two or more crops simultaneously
(E) Planting a tall crop with a shorter crop that requires partial shade.
Choose the correct answer from the options given below :
(1) (A), (B) and (C) only
(2)  (B), (C) and (D) only
(3) (©), (D) and (E) only
(4)  (B), {C), (D) and (E) only
Options :
212807127769. 1
212807127770. 2

212807127771. 3
212807127772. 4

Question Number : 328 Question Id : 21280731943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Frerferfian 9 @ w-ar Juw yer Sednm Juur & i o B2
(A) @ el g el wuet B edd se wae & wryg A s
(B) & ur o1 wred 1 IR 00 HIEAT !

(C) Tafay sftgsaen safy welt fradl @ dum e

(D) U @y q 3 us v I

(B) & Wt & o U W waet Y gend wen, Tad rifores e o srea a1
i fou ru fosred d 4 W&t 3w 1 g e

(1) e (A), (B) 3 (C)

(2) ¥ (B), (C) ¥ (D)

(3) " (C), (D) 3 (E)

(4) %@ (B), (), (D) 3 (E)

Options :

212807127769. 1

212807127770. 2

212807127771. 3
212807127772. 4

Question Number : 329 Question Id : 21280731944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
g =
s collegedunia:

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - IL
List -1

(A) PGPR

(B) Cyanobacteria

(C) Biological Nitrogen Fixation
(D) Phosphate solubilizing bacteria
Choose the correct answer from the options given below :

(1) A, (B)-(D), (©O)-1I), (D)-(V)
(2) (A0, B)-D), (C-1V), (D)D)
(3) (A, (B)-(IV), ©)-(T), (D)-(I)
(4)  (A)-V), (B)-(ID), (©O)-(M), (D}(D)

Options :

212807127773. 1
212807127774.2
212807127775.3
212807127776. 4

0
()
uty
(V)

List - I

Bacillus sps, Nitrobacter
Rhizobium, Azorhizobium
Pseudomonas fluorescens
Anabaena, Nostoc

Question Number : 329 Question Id : 21280731944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Teft-1 & Fe-11 &1 Taere swifad
i1

(A) PGPR

(B) argt Safifen

(C) Sfgsrra e ferdam

(D) wreFe gemsha Sedfon

0
uy

TEAI-11

Aefters wardrey,
() SEEmY Tag

(Ivy wifa, e

i T e faedi § A WE SO % 99 It ;

(1) (A)D), (B)(II), (C)-(II), (D)-(IV)
(2) (A, (B)-(LI), (C)-(IV), (D)-(I)
(3) (A, (B)-(1V), (©O)-(M), (D}(D)
(4) (A1), (B)-(IID), (©O)-(M), (D)D)

Options :

212807127773. 1
212807127774. 2
212807127775. 3
212807127776. 4

Question Number : 330 Question Id : 21280731945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

gcollegeduniag

-



Choose the incorrect statement regarding Green Revolution.
(1) new seed varieties and irrigation techniques were developed
(2) use of chemical fertilizers and pesticides was promoted

(3) impact of food was minimized

(4) water-saving irrigation techniques were developed

Options :

212807127777. 1
212807127778. 2
212807127779. 3
212807127780. 4

Question Number : 330 Question Id : 21280731945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

gfta wift % day & sram s HwIT B
(1) 8 &9 Frd ok fiwg i fassfina 91 7 off
(2) araf et o) el % sader s aerEr foa

(3) ErEN 3qrTd Y T e

(4) et gy THar qed fasfya o g o

Options :

212807127777. 1
212807127778. 2
212807127779. 3
212807127780. 4

Question Number : 331 Question Id : 21280731946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which one of the following is in exhaustible resources ?

(A) Sunlight
(B) Wildlife
(C) Minerals
(D) Water
()  Wind

Choose the correct answer from the options given below :

(1) (&), (O, (D) only
(2)  (B), (D), (E) only
(3) (©), (D), (E) only
(4) (A), (D), (E) only
Options :

212807127781. 1

212807127782. 2

212807127783.3
212807127784. 4

-

s collegedunia:



Question Number : 331 Question Id : 21280731946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fretforfiaa § & HH-8 srearcia gareq £2?

(A) Rt

(B) &~ iy
© wfrs
(D) &

(E) =%

= feu v fawedi § 4 98 390 F w21 Fifeu

(1) ¥ (A), (), D)

(2) e (B), (D), (E)

(3) = (C), (D), (E)
(4) e (A), (D), (E)

Options :

212807127781. 1
212807127782.2
212807127783.3
212807127784. 4

Question Number : 332 Question Id : 21280731947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

GDP of any country is the total of its net domestic product and :

(1) Consumption of capital in the production process

(2) Consumption of capital in the informal economy

(3) Earning on foreign exchange in the domestic country
(4) Subsides on the consumption of Goods and Services

Options :

212807127785. 1
212807127786. 2
212807127787. 3
212807127788. 4

Question Number : 332 Question Id : 21280731947 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

-

s collegedunia:



foredt W Y GDP 395 Fa Fraw ey seag ok A R
(1) geaved ufseen & 4wy

(2) efrrafisr syederaen § gl wug

(3) efee] ger o faded fafray srsiq

(4) wegsl oin Jawell ) wuw ot ahfeat

Options :

212807127785. 1
212807127786. 2
212807127787.3
212807127788. 4

Question Number : 333 Question Id : 21280731948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following does not cause ozone depletion ?

(1) Halons

(2) CFCs

(3) HFCs

(4) HCFCs
Options :

212807127789. 1
212807127790. 2
212807127791. 3
212807127792. 4

Question Number : 333 Question Id : 21280731948 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Fretforfiaa § @ - il stuer 987 w82
(1) &ei

(2) CFCs
(3) HFCs
(4) HCECs

Options :

212807127789. 1
212807127790. 2
212807127791. 3
212807127792. 4

Question Number : 334 Question Id : 21280731949 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

s collegedunia:

-



Match List - I with List - I

List -1 List - II

Protocol Convention Year
(A) Kyoto protocol Iy 1998
(B) Basel convention (o) 1987
(C©) Montreal protocol (o) 1997
(D) Bamako convention (IV) 1989

Choose the correct answer from the options given below :
(1) (A, B)-(IV), (C-(1), (D)-{IT)

(2)  (A)-IV), (B)-(), (O-(11), (D)-{1])

(3) (A)ID, (B)-(IV), (O-(L), (D)}-(D)

(4)  (A)-D), (B)-(1D), (O)-L), (D)-(IV)

Options :

212807127793. 1

212807127794 2

212807127795. 3
212807127796. 4

Question Number : 334 Question Id : 21280731949 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Teft-1 & Fe-11 1 Taerr sifad
i1 TEA-11

PICiCare PRt | T4
(A) A W Iy 1998
(B) ager sifvaey () 1987
(C) Hifae Wi (I 1997
(D) &Rt stfirema (IV) 1989

= fem o faaedi O A WE ST 1 994 i ;
(1) (A)-(1), B)-(IV), (O-(1), (D)-(11D
(2)  (A)-IV), (B)-(D), (O~1D), (D)-{11)
(3) (A1, (B)-(IV), O-(I), (D)-(D
(4) (A1), (B)-(ID, (O-1I), (D)-(IV)

Options :

212807127793. 1
212807127794. 2
212807127795. 3
212807127796. 4

Question Number : 335 Question Id : 21280731950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
s collegedunia:

-



Key Value
Comprehension MCQ

Which of the following gases absorb infrared radiation emitted from the Earth’s surface ?
(A) SO,

(B) NyO
(C) NO,
(D) CO,

(E) H,O vapor

Choose the correct answer from the options given below :
(1) (B) and (D) only

(2) (B), (O) and (E) only

(3) (B), (D) and (E) only

(4)  (A), (B) and (D) only

Options :

212807127797. 1
212807127798. 2
212807127799. 3
212807127800. 4

Question Number : 335 Question Id : 21280731950 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Freafeafiga 8 @ #0- 39 geit ) wae gr0 e st fafsool =6 srarifia e 872
(A) SO,

() N,O
(©) NG,
(D) CO,
(B) H,0dw

9 fou o fasedi § 4 W ST 1 999 Hifed
(1) % (B) 3R (D)

(2) & (B), (O) I (E)

(3) &t (B), (D) 3K (E)

(4) F (A), (B) (D)

Options :

212807127797. 1
212807127798. 2
212807127799. 3
212807127800. 4

Question Number : 336 Question Id : 21280731951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
s collegedunia:

-




Match List - I with List - I

List - I
(A) Troposphere D
(B) Stratosphere (ID)
(C) Mesosphere (III)
(D) Thermosphere (IV)

Options :

212807127801. 1
212807127802. 2
212807127803. 3
212807127804. 4

List - IT

Ozone depletion
Aurora

Global warming
Artificial satellites
Choose the correct answer from the options given below :
(1) (A, (B)-(), (-1, (D)-(V)

(2) (A, (B)-0), (O-(IV), (D))

() A0, B-1D, (O-1v), (O)-h

(4) (A, (B)-(D), (O(D), (D)-(1V)

Question Number : 336 Question Id : 21280731951 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Teft-1 & Fe-11 1 Taerr sifad
i1

(A) smige (1)
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Which of the following is not true about rainforests ?
(1) Provides modern medicines
(2) Have foed crops
(3) Contribute in increasing global warming
(4) Also known as ‘lungs of planet’
Options :
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212807127807. 3
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Identify the correct sequence {increasing order) of Global Warming Potential of mentioned.
(A) Carbon dioxide

(B) Chlorofluoro carbon

(C) Water vapour

(D) Hydroflorocarbon

Choose the correct answer from the options given below :

(1) (© (A). B), (D)
2) A (©), B), (D)
() (©, a), D) B
4) (&), (©), D) B

Options :
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TRIPS agreement is administered by which of the following organisation ?

(1) WHO

(2) OECD

(3) WMO

(4) WTO
Options :
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Which convention is associated with controlling international toxic waste trade ?

(1) Stockholm convention
(2) Hong kong convention
(3) Bonn convention
(4) Basel convention
Options :
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Lakes are freshwater ecosystems that may be natural or more frequently, artificially created by the
construction of dams and tanks. Damming rivers alters a flowing water ecosystem to a still water
ecosystem. This is usually developed for irrigation, or for water storage for urban or industrial use
and hydroelectric power generation. There are several types of lakes - cligotrophic, dystrophic,
eutrophic, endemic, volcanic, meromictic and artificial. Their biodrversity includes algae, which
derives energy from the sun. This is transferred to microscopic animals which feed on the algae.
Herbivorous fish, which in turn are preyed upon by larger carnivorous fish. Some specialised fish,
such as catfish, feed on the detritus on the muddy bed of the lake; they are called bottom feeders or
bottom dwellers. Fisherfolk depend heavily on this freshwater ecosystem, and farmers use it for
water for their fields.

Sunlight penetrates the water surface of shallow parts of a lake ecosystem used by the aquatic
plants. From the aquatic plants, energy is transferred to herbivorous animals and carnivores that
live in water. These animals excrete waste products, which settle at the bottom of the lake and are
broken down by small animals such as molluscs and worms that live in the mud in the lake bed.
This acts as the nutrient material used by aquatic planits for their growth. During this process
plants use carbon from CO2 for their growth and release oxygen. This oxygen is then used by
aquatic animals, which filter water through their respiratory system.

The energy transfer from lower trophic level to higher trophic level in a ecological food chain
follows the :

(1) 10% low

(2) 90% low

(3) 50% low

(4) 70% low

Options :
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Lakes are freshwater ecosystems that may be natural or more frequently, artificially created by the
construction of dams and tanks. Damming rivers alters a flowing water ecosystem to a still water
ecosystem. This is usually developed for irrigation, or for water storage for urban or industrial use
and hydroelectric power generation. There are several types of lakes - cligotrophic, dystrophic,
eutrophic, endemic, volcanic, meromictic and artificial. Their biodrversity includes algae, which
derives energy from the sun. This is transferred to microscopic animals which feed on the algae.
Herbivorous fish, which in turn are preyed upon by larger carnivorous fish. Some specialised fish,
such as catfish, feed on the detritus on the muddy bed of the lake; they are called bottom feeders or
bottom dwellers. Fisherfolk depend heavily on this freshwater ecosystem, and farmers use it for
water for their fields.

Sunlight penetrates the water surface of shallow parts of a lake ecosystem used by the aquatic
plants. From the aquatic plants, energy is transferred to herbivorous animals and carnivores that
live in water. These animals excrete waste products, which settle at the bottom of the lake and are
broken down by small animals such as molluscs and worms that live in the mud in the lake bed.
This acts as the nutrient material used by aquatic plants for their growth. During this process
plants use carbon from CO2 for their growth and release oxygen. This oxygen is then used by
aquatic animals, which filter water through their respiratory system.

A lake having relatively clean water and very optimum biological productivity is referred to as :
(1) Eutrophic
(2) Dystrophic
(3) Oligotrophic
(4) Mesofrophic
Options :
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Lakes are freshwater ecosystems that may be natural or more frequently, artificially created by the
construction of dams and tanks. Damming rivers alters a flowing water ecosystem to a still water
ecosystem. This is usually developed for irrigation, or for water storage for urban or industrial use
and hydroelectric power generation. There are several types of lakes - cligotrophic, dystrophic,
eutrophic, endemic, volcanic, meromictic and artificial. Their biodrversity includes algae, which
derives energy from the sun. This is transferred to microscopic animals which feed on the algae.
Herbivorous fish, which in turn are preyed upon by larger carnivorous fish. Some specialised fish,
such as catfish, feed on the detritus on the muddy bed of the lake; they are called bottom feeders or
bottom dwellers. Fisherfolk depend heavily on this freshwater ecosystem, and farmers use it for
water for their fields.

Sunlight penetrates the water surface of shallow parts of a lake ecosystem used by the aquatic
plants. From the aquatic plants, energy is transferred to herbivorous animals and carnivores that
live in water. These animals excrete waste products, which settle at the bottom of the lake and are
broken down by small animals such as molluscs and worms that live in the mud in the lake bed.
This acts as the nutrient material used by aquatic plants for their growth. During this process
plants use carbon from CO2 for their growth and release oxygen. This oxygen is then used by
aquatic animals, which filter water through their respiratory system.

Highest biochemical oxygen demand in the lake is observed in :
(1) surface water

(2) euphotic zone

(3) litteral zone

(4) benthic zone

Options :
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Lakes are freshwater ecosystems that may be natural or more frequently, artificially created by the
construction of dams and tanks. Damming rivers alters a flowing water ecosystem to a still water
ecosystem. This is usually developed for irrigation, or for water storage for urban or industrial use
and hydroelectric power generation. There are several types of lakes - oligotrophic, dystrophic,
eutrophic, endemic, volcanic, meromictic and artificial. Their biodrversity includes algae, which
derives energy from the sun. This is transferred to microscopic animals which feed on the algae.
Herbivorous fish, which in turn are preyed upon by larger carnivorous fish. Some specialised fish,
such as catfish, feed on the detritus on the muddy bed of the lake; they are calied bottom feeders or
bottom dwellers. Fisherfolk depend heavily on this freshwater ecosystem, and farmers use it for
water for their fields.

Sunlight penetrates the water surface of shaliow parts of a lake ecosystem used by the aquatic
plants. From the aquatic plants, energy is transferred to herbivorous animals and carnivores that
live in water. These animals excrete waste products, which settle at the bottom of the lake and are
broken down by small animals such as molluscs and worms that live in the mud in the lake bed.
This acts as the nutrient material used by aquatic planis for their growth. During this process
plants use carbon from CO2 for their growth and release oxygen. This oxygen is then used by
aquatic animals, which filter water through their respiratory system.

Which of the following does not act as source of nutrients in a lake ?
(1) Agricultural runoff

(2) Sewage waste

(3) Industrial effluents

(4) animal excreta

Options :
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Lakes are freshwater ecosystems that may be natural or more frequently, artificially created by the
construction of dams and tanks. Damming rivers alters a flowing water ecosystem to a still water
ecosystem. This is usually developed for irrigation, or for water storage for urban or industrial use
and hydroelectric power generation. There are several types of lakes - oligotrophic, dystrophic,
eutrophic, endemic, volcanic, meromictic and artificial. Their biodrversity includes algae, which
derives energy from the sun. This is transferred to microscopic animals which feed on the algae.
Herbivorous fish, which in turn are preyed upon by larger carnivorous fish. Some specialised fish,
such as catfish, feed on the detritus on the muddy bed of the lake; they are calied bottom feeders or
bottom dwellers. Fisherfolk depend heavily on this freshwater ecosystem, and farmers use it for
water for their fields.

Sunlight penetrates the water surface of shaliow parts of a lake ecosystem used by the aquatic
plants. From the aquatic plants, energy is transferred to herbivorous animals and carnivores that
live in water. These animals excrete waste products, which settle at the bottom of the lake and are
broken down by small animals such as molluscs and worms that live in the mud in the lake bed.
This acts as the nutrient material used by aquatic planis for their growth. During this process
plants use carbon from CO2 for their growth and release oxygen. This oxygen is then used by
aquatic animals, which filter water through their respiratory system.

The aging process of lakes by excessive nutrient enrichment is referred to as :
(1) Biopiracy

(2) Biomagnification

(3) Eutrophication

(4) Bicaccumulation

Options :
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Acid rain could be in form of rain, snow or mist acid rain occurring in a place could be caused by
emission from for away. Industrial operations and fossil fuel combustions are the way as sources
of acid forming gases. Since the advent of industrial revelution, human activities have been releasing
such pollutants in large quantities. When soil is acidified it loses its productivity, which heads to
damage plant roots. Thousand of lakes in Sweden, Norway have been permanently affected by
acid. The Taj Mahal was also threatened by acid rain caused by factories in Agra, Acid neutralization
is one way of reducing acidity. However reduction in emission is the best way to solve the problem.

Acid rain is primary caused by oxides of :
(1) Carbon and sulfur

{(2) <Carbon and nifrogen

(3) Nitrogen and phosphorous

(4) Nitrogen and sulfur

Options :
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Acid rain could be in form of rain, snow or mist acid rain occurring in a place could be caused by
emission from for away. Industrial operations and fossil fuel combustions are the way as sources
of acid forming gases. Since the advent of industrial revelution, human activities have been releasing
such pollutants in large quantities. When soil is acidified it loses its productivity, which heads to
damage plant roots. Thousand of lakes in Sweden, Norway have been permanently affected by
acid. The Taj Mahal was also threatened by acid rain caused by factories in Agra, Acid neutralization
is one way of reducing acidity. However reduction in emission is the best way to solve the problem.

Neutral pH natural rain water is :

(1) 7.0
(2) 5.6
(3) 6.5
(&) 6.0
Options :
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Acid rain could be in form of rain, snow or mist acid rain occurring in a place could be caused by
emission from for away. Industrial operations and fossil fuel combustions are the way as sources
of acid forming gases. Since the advent of industrial revolution, human activities have been releasing
such pollutants in large quantities. When soil is acidified it loses its productivity, which heads to
damage plant roots. Thousand of lakes in Sweden, Norway have been permanently affected by
acid. The Taj Mahal was also threatened by acid rain caused by factories in Agra, Acid neutralization
is one way of reducing acidity. However reduction in emission is the best way to solve the problem.

Which of the following is not an acid neutralising species in ambient atmosphere ?
(1) Ammonia
(2) Calcium carbonate
(3) Magnesium carbonate
(4) Sodium hydiocxide
Options :
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Acid rain could be in form of rain, snow or mist acid rain occurring in a place could be caused by
emission from for away. Industrial operations and fossil fuel combustions are the way as sources
of acid forming gases. Since the advent of industrial revelution, human activities have been releasing
such pollutants in large quantities. When soil is acidified it loses its productivity, which heads to
damage plant roots. Thousand of lakes in Sweden, Norway have been permanently affected by
acid. The Taj Mahal was also threatened by acid rain caused by factories in Agra, Acid neutralization
is one way of reducing acidity. However reduction in emission is the best way to solve the problem.

Which one of the following is not an effect of acid rain ?
(1) Deterioration of monuments
(2) Leaching of nutrients from agricultural fields
(3) Increases acidity of lakes
(4) Increases soil salinity
Options :
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Acid rain could be in form of rain, snow or mist acid rain occurring in a place could be caused by
emission from for away. Industrial operations and fossil fuel combustions are the way as sources
of acid forming gases. Since the advent of industrial revelution, human activities have been releasing
such pollutants in large quantities. When soil is acidified it loses its productivity, which heads to
damage plant roots. Thousand of lakes in Sweden, Norway have been permanently affected by
acid. The Taj Mahal was also threatened by acid rain caused by factories in Agra, Acid neutralization
is one way of reducing acidity. However reduction in emission is the best way to solve the problem.

Acid rain is an example of :
(1) Line pellution

(2) Point source pollution
(3) Regional/area pollution
(4) Global pollution
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